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@ EAF A A (DY0x300 S.T:AAGZ(N)/10038] = 71/3]
@ AZFLA - (D100x1000S.T): A Al =2(7])/1008] = 7H/3]
@ HEAEEDI*250 S T):AAGF=ZHN)/1003] = 71/3]

® A EEDI=400 S.T):AAG=F(71)/1003] = 71/3]

® 2237 A(100Ton): A A 5= (71)/1002] = 71/3]

@ v} (Double Wheel):d Al 4= (7))/1003] = 71/3]
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2) AA 2 aA
- JE5F 068/10(F/m') =
~ BEIR: 021/10(F/m)
3) 71 A7 H]
- 2 <1(15Ton): 0.25hr/10(3/m')=0.025hr/-&/m’
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- A A(20Ton): 0.28hr/10(F/m’)=0.028hr/¥/m’
2. A" Fukg] (4 2] 7+ 40.6me] 3h)
D AEu(AATE 48) &8 6% 48
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I

0.087%1/&/m'
0.02791/&/m'

3. Al =" Eurg (A X 7 1.2m=z %)

D ASH(EAATEF A8) 1 &8 6% 48

2) =FH(AXA06mEH1.2melsH e 90%% &
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H3 = = =4 2 73 E (o A
5 | Z@A7FFEEE | Ton | 1. AZH(A %A 420 0.9mn):8.00kg
(Ev‘jlg') 2. A7V E
D A & 1519
2) BE2I:0509]
3) 7| FER(AHE] 2%)

3. A+xd9
1) # 2 3:1.929
2) RES13:0.80%

6 | A2RWIAE
AAA B R GA

6.01| ZoAA LA L % . (Y ZE 9105tonE 8 60kno] )
2 A A] KL 1) 2 A):17%/)
(50%20x20mm) - B 71:30%/Zx17%/H = 510%/)

- 3] H:30%/Fx17Z/H = 510%/H
- E 7]:30%/Zx172/9 = 510%/4
A:(510.00% /91 +510.00% /tH +510.00% /1 )/60% = 26%/tH
2) nrH]
ql = 17&/d, f = 1.00, E = 0.90
tl = 265/t (FA), t3 = 268/ (A3}, t4 = 0428/

t2 = (60km/35km/hr (& A)+60km/35km/hr (& 2}) x60 -
= 205.71%/H
Cm = 26%/0]+205.718/t+26% /0] +0.42% /T =258.13 %/t
OH = (205.71%/tH+0. 421"%/EH)/258.13%_'—/EH
0.799% /) (A 5.1] 7+ &
Q = 258.13T/tH/<60¢x1.00x0.90)/17§/u1 = 0.281hr/%
3) 3x}H](10ton EFelol =g ¢l)
q0 = 1z/9, f = 1.00, E = 0.50
tl = 30%&/%(F7]), t2 = 30Z%/E(3]H), t3 = 30%/E(Z7])
Cm = 30Z%/8+30%/E+30%/% = 90%/&
Q = 90.00%/%/(3600%x1.00x0.50)/1%/% = 0.056hr/Z%
4) 2174]
w19 ARG A 7H480% /L /60% /hr = 8.0hr/Y
@ W] Al F:221/49/8.0hr/¢ =0.050hr/Z = 0.013%1/%
@ BEH:191/9/8.00hr/2 *x0.050hr/Z = 0.00691/%
2. A &H
1) 3%(D20,30):268.800kg
2) Spider(D10x95mm):39.480ke
3) 590l Z(125x75%7t):14.805kg
4) A 3(150%x150%x10mm):3.960kg
5) o] & A (D=16mm):42.642kg
6) EE&U E(F8T,M20x50mm):67H
7) 97 118](D20,24):3.360kg
8) LA th:17.150kg
3. A ZE]) (2 F3):9.90¢] /tonx0.356ton/Z = 3.524%1/%
4. AAH|(F 2 2z A A])
5. 73U 4ty
1) AANE-JAFE201x)
tl = 252 (A AAIZ), t3 = 258 (H kA7)
Cm = 25%+25% = 5% 0 = 1%
Q1 = 60Ex1%/500% = 12%/hr
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2) 7§Lﬂi%HP<E} Jo1 =1H,2.29m’)
A ¢ 0.159%m(E E A AL
V1 = 7kn/hr, V2 = 8kw/hr, f = 1.00
qo = 0.356ton/Z (A 2H=%), k = 1.00, E = 0.55
= 18%,t2=14%,1=8m m = 1.8m/%
Cml = 1.8m/Zx8m+18%+14% = 464%
Cm2 = (0.159%km/7km/hr+0.159kmn/8km/hr)x3600%= 153.32%
Cm = 4640%+153.32% = 199.72%
= (36003 x1.00x1.00x0.55)/199.72% = 9.914ton/hr
Q = 9.914ton/hr/0.356ton/% = 27.848%/hr
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(0. 6m )+ 0.085hr
(A AF 50002) @ 0.074hr
3) 71483 = (1.49kW) : 0.074hr
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8 | MiH1e$HY m | 1. 28" AZAE
D AHE 39 2 &
S A HE S A
- A=H(EA)
- AlHE 24H(H 3):150ke/m’
2) Ea&\kH|
oo g 2AFE900ke/m'/1600kg/m' x1.10(25) = 0.619m’
3) A& 2:195ke/m'/1000kg/m' = 0.195m’
4) Z3}A
5 3} A]:3.45keg/m’
2. 71A7I A8 =

1) 2298 =) A (190%2KW):0.50m’ /hr

2) 129-¥H 2 (40~125 ¢ /min):0.50m'/hr
3. 288" Zdx

1) ;(]-04 61—§§ 7;”/\].

- 7] H:100%

- opzhEdEE: 0%

x op7Arglo] Wa s A% TF whod(Fokgr3ald] 25%)
- F g F 0%

-l g F 0%

2+ 821 (100+0+0+0)/100 = 1.00

2) =54
71 Al A AF18 x2hr/8hrx1.00(&35) = 0.2591
E18 21 2190 x2hr/8hrx1.00(&5) = 0.25%]
HE A 520 x2hr/Bhrx1.00(&%) = 0.50%1
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9 | HdaAEHA AL |1 = AEAEdgG
(oFu} gk =2 =) 1) ol A (Z oAz x3d Ao AE) L i

2) 10 =29 2x22x2(¢0E) = 4%

3) SA7IZbAN D (BFol g 2 A E5 7], A

4) EEHTAEE A8 7wt 2HA)6%

5) ¥ v ASlga} PR FL F8T Bl

Agolin dol@ A% Wrel Fow x4 & dn

2. 4 & A

1) %87 THD39mmx 1 50:221 5mx1.05(2%) AAZE

<4002 x6% / 4709 = 13.95m/71 4 Aol AN
2) %87 PH(D25mx150:516 7mx105(8 %) 2l
S
x4.00% 6% / 4749 = 32.55m/70 9 s

3) A =R (A =H e 2%)

3. =9 9 A

1) i%‘ [E%]
0 Al E : 591/9x49/8)/4N 9/F x4z = 209 342
BEQR : 191/Ax49/3)/47 /3 x4% = 49] A A

2) & Al =4 3 A
v Al & 591/Yx2d/3)/4ME/3]x4% = 109
HogAq - 191/ x29/3)/4 4/3] 4% = 291

3 srEw ¥ AN EEE 5) 71A8H]
D e 2%

10 | AN AT m | 119 #9JE : L-1,000m
(R2ERZIYE) 2. A Au] A= SAAEA

1) B%9117:191/1,000m=0.0011/m (432 A1)

2) TTERRIEEY 3%
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